204 53 s ® K 15
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% A = * ® = # ®
e £ P DU i 6.5 6.8  —| - —| —
LA D KI5 40 | L 1|4 9.5 9.8% 4. 456 4.4 — —
BT B 40 | L1fd 12 1580 5.1[:5.1 - -
A EN=E l=353F: i1 —t 6.4 9.5 | | | —
EERLS O K
1 [EiE2 4 580 40 | 1.2|f 14 199 ogd 28— —
2 kLo 40 | L1 oo.3fh 15 3 o8t 3.2 —| —
A s P 1 X I —#t 8. ot 13 | | | —
RS DK
1 [EiE3 0 9 F#Rk CRERFf A 50 | L2|d 13 224 o9k 22 | —
HPTHIR
2 RERLSOHI 50 | L1|# 1 198 14 14— —
HE f2 P 4 XU —t 7.6 9.2f - - - -
LEREA o Kk
1 EEHMIFERHFTE SR 40 | L1 10 12%h 40T 47 | —
2 EREELS O 40 | L1(F 9.8 1L 4.7 4.7 — —
aTE [EiE 3 0 9 ZAm 50 | 1.1|d 1o 19 o7 2 | —
LIS O Hh 50 | L1|P 8. o 13 3.7 3.7 —|  —
AAE FER P X3 —loe.gpi 11 | —|  —|  —
LR DK
1 BEFEIKBRECEESEERBV (40 | L1|F 11 198 6 4 6.1 —| —
2 hEE o i 40 | L1|% 9.7F 16E@ oA 5.4 — —
SE ] 2 H —t ool 14 | | | —
ERELAS O KR 50 | 11| 16 23F 25 28 @ —|  —
S5 RAF et 50 | L1|% 13ff 1o@fi 3.9 3.9 — @ —
| %M = P b X —t 1 18— —| | —
ERELASR D DI
1 EE2 4 5B 40 | L1(F 22 29 33 33 —| —
2 [EiE 2 4 L0 FAIOHIK 40 | L[ 17 ouh 13l 13 0 - —




SEAR29F 4y i = X 25
T XATF 4 < #ETH BRI
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
| M 3 RO IR 40 | LT 21 2o 22 | —
N FhE 2 4 SRR 40 | L.1(F 15 23 28 28— —
LELEASN o i
1 RGE S NERR 40 | L1 13 18F 25k 25 | —
2 FEREAAh o Mgk 40 | L1(P 11ff 15 25 25 — —
By FR fi% L Bt —eE 8.5l 14— —| | —
ERRLISN O XI5
1 EEMEETERER, FRICKRAECERE 40 | L[ 13 21 22k 22 | —
FHIRRHA W
2 ] RFNFRILAR & 0 BIA o Htsk 40 | L1|h o1g 18E 12dl 120 - —
3 RES ORI 40 | Lt 1o o1 18 18 | —
HE A £ P DU —fti 6.8 8.2f  —| —| —| -
RS D KI5 40 | L.1(F 9.0 lofE 3.8% 3.8 — —
&| e P P L X fgk — g9 | | | —
EELIA 0 KR 40 | L1 10/ 148 2.7r@ 2.7 - -
E+= i 50 | 11| re¥E ¥R v Ve | —
AT AR K ek
1 R —et e 18 | | | —
2 ERELSF DX 50 | L1 14[11-j 239 o4 24— —
<| e ik
1 M g — | BRMR | PtMH beiE bbMH MR | —
2 _ERLEMA ot 50 | 1.1| ke¥g be¥E v bW | —
i LR K ik
1 R —t o 13 |~ | —
2 hEES oK
(1) REWBEIRE TS EEA 50 | L1(F 23F 28+ o8p 28 | —
LI
(2) kLIS 50 | L.1|h 1eh 20# 3.9 3.9 |  —
ik Eseun 40 | L1[¥ 9.0 17?@ 2.8 2.8 | —




SEAR29F 4y i = X 3E
T XATF 4 < #ETH BRI
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
i [ £ P DU —ft 7o 100~~~ —
RSO K 50 | L1 9.5 13 2.60 2.6 —| @ —
B ] Fok i X 35 —t o8 e 9.4 | | | —
EEELS 0 K
12/\55309%%%&6%5%3@4\,@&% 50 | L3P 14b 15 gt 16 | —
O
2 _ERELIAF DR 50 | 134 11 14Fm 3.orpq 0 - -
T NEkEE|Es: 1 — | B&M | fb¥E LkHE HHE LLEE - -
T RS DX Hi 50 | L1|hoagf 24 - - - -
/NHER EEHTEEETE R 50 | L1k o1gd 23 1o 100~ —
LRLEAS O A 50 | L1|F 1off 17 4600 4.6 @ — —
&| FEHT L 40 | 11| He¥E B - - o -
A% 40 | L1|foagE o2 —| - - =
2 Fot ) i (X 35 AR | S I R
EELIA 0 KR 40 | L1|foufE o 1sm o ufF o1 - —
LAV i
1 MR Hue — | BRHR | th¥E pkvE phEE phrE - -
2 _RRLLISh o HiE 50 | 11| re#y ph¥E My pREE )
A b AR X g
12} TE_T2 4 B R IR GE K Fn s MAETHY 50 L1 148 29 - - - -
W
2 kRERLASh o Mt 50 | 1.1 1 200 — — — —
U TR £ P L U —t o9 1l 120 - - - -
ERLEAA D X I 50 | L1|® 12f 18 17 17 — -
1 P P L X fgk —fet 1opE 12 | | | —
EERLIA 0 X
1 [EE 3 0 9F5#nw 50 | L2|P 15 200 24 24 0 — —
2 LFELh o g 50 | L1 13 17 4660 4.6 0 | —
iliNe) R (e 50 | 11| tedy He¥E ¥y H¥E |




TR0 5y i 2R * 45
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
L #ule A LIS ik - | W22 - —
#H I 50 | L.1|f 12 13%E 3.1 3.1 —|  —
) B = i 40 | L1 |F 8.5 8. 7HE 2.9 2.9 — —
| AR P P i X S5 e (R B B B
EEELS OO KR 40 | 1.1 EPSAF: 12/ 14 14— —
7o| WK e 1 X3 —L 6Tl 100 —  —| |
RS DK 50 | L1|P o.ofb 13t 2.6 2.6 —|  —
TH Eeein? — | BEAR | bhiE tl:f’ér [Eati < e - -
EF L IR 50 YO O N P < R & b= R = o = I = o= - -
TR b A X
1 B H K oo 15 | | | —
2 LRSS ORI
(1)]/\5%3@:@%53@%%&@?@@?%@%@ 50 | L.1|fo 19 28F 27 2 - —
(2)  _EREELASh DO HuE 50 | L1 1gff 249 o7 27 — -
B F IR i Ik
1 MR Hue — | BRHR | th¥E pkvE phEE phrE - -
2 _RRLLISh o HiE 50 | 11| re#y ph¥E My pREE )
A b AR X g
1 JRE A —toe.gp 19 | —| - —
2 RSO KK 50 | L1|F o wdaE 24 - - | —
| HEHK 2 P X —t 1o 16 | —|  —|  —
LRRLSA o Rk 50 .14 16F 25 — — — —
¢l PE Ei#E3 095K, BRErffaBikoT®E (50 | L1[F 159 19F 229 22 —| —
VNS SN
RERLIA O I 50 | L1|P 19 15 2. 9% 2.9 —| —
=H [E38 3 0 9 Sk CIRE K& BEFTnYY 40 | L L[ 188 20+ 204 20 —| —
EEELIA o il 40 | L1 1o 15 9.7 9.7 | —
2H P2 F X — | 10f@ i - - - =




SEAR29F 4y i = X 5E
i KET A4 - HETH B G E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
& &M LFCRAS D X teR
1 [EE 309 5&ihv 40 | LUffoigdo g o22p 22 - —
2 _LELLIS oM 40 | L1 13 15t 8.8 8.5 —| —
RHF Fo P XU —# 1080 11 — — — —
EERLS O K
1 [EiE2 4 580 50 | 1.1|h 19 23 ogp 25— —
2 kLo 50 | L1|P 14fb 16t 3.3 3.3 0 —| —
R 4R PR P L X3 — g5 12 | —|  —|  —
RS DK
1 EHE309BRECTEEMGEMI (40 | L4|F 16F 26+ 28 28 | —
FEHIBW
2 FEELIS R 40 | L4|f 13 1eh 23h 23— —
o [iEcERAES:7 50 | 1.1 k¥R W HevE bW - —
AT (LA Xk
1 A — L 13 — — — —
2 kRELSA DRI
(1) EBHFEBTELHRBY 50 | L.1|% 20 24%0 3.56f 3.5  — -
(20 RSO 50 | L1|f 16/ 18 3.5 3.5 0 —|  —
Rk FER P X3 —l e b 11 | —|  —|  —
LELA ORI 40 | 11|k 19 18 s s 51— —
(ol W Bt T L X3 —ore 12 | | | —
ERLLAS O K 40 | L1(% 10 17 3.08f 3.0 —| @ —
[0S 5 A M IR —el 4790 8.5, | | | —
EEEANOTFS 40 | 1.1 6.7F 12F@ Lt 1.8 —|  —
4 =5 b 50 | 1.1| k¥ HIE ttﬁﬁr ke - -
T LR K dek
1 R —t 9.5 14— —| | -
2 hELA X
(1) [ 2 4 SR 40 | 1109 1gd 304 30 300 — -




204 53 s ® K 6
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
iz PEEFE (2)  EFELAS O 40 | L1 (f 13 20 4.0 7E 4.7 - —
gt P X3 — 9.5 12 | - - -
LERLIA o Kt
1 [EE 2 4 5Hn0n 40 | 1.1|h g 24 o1 21 - —
2 FEREAAh o Mgk 40 | L1 3 o o2 o120 — —
i3 A i FR b X g 6086y | | | —
ERRLISN O XI5
1 [EE 2 4 58080 40 | L1|P 8.8F 124 8.4% 8.4 | —
2 LRELU o i 40 | L1|4 7.8 109 8.4 8.4 |  —
A = F —# 10 14 - - - -
LRRLIA o Kk 40 | L1|# BE 18 7. 1 7.1 — —
N FREE 2 H —l 566 6.3 | —| —| —
EFRLIA O K
1 EiE2 4 58 HB0 50 | L1|F 19 231 12 12 — =
2 [EiE 2 4 58 L D PO HuE 40 | L1821 o2 o120 | —
3 LRELSt o 40 | L1 8.2 11 6.2 6.2 —| —
it A X
1 BT e — | BEAR | EeTH LEYE ROTH O LRYE - -
2 LEEA 40 1.2 LE¥E LEWE bevE bR - -
LA b 40 | L1|F o1k o2 - - o —
R Fot Y b R s —WE o4t 14— - — =
EFRLA o I
1 BB &R 40 | L1|H 18 25+ 5.3P 53 —| -
2 LERLIS o s 40 | Lt 13 21 5.3 5.3 | —
RAW E=eEn 40 | L1ffoeFo o8 | - | -
A £ — | BEAR | PLME k¥ Lbve b | —
REH Pk FH 1L X3 Moo o100 | | | —
ERRLISh O X8




SEAR29F 4y i = X 7H
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
O R&EFH 1 EE2 4 580 40 | L1|% 2 23+ 28 28 @ — —
2 _LEELA o M 40 | L1|F 14 16§ 8. 9% 8.9  — —
Gitis [EiE 3 0 9 F#B 40 | LA|po1gd g e o2 | —
RELIS O 40 | L1|F 1 15 2.9t 2.9 | —
RN FE PR M X3 — o7 e 8.7 | | | —
EEUA ORI 40 | L1 toff 19 3 uEE 3.1 | —
fri FE% P XA —ft 1ot 13 | - | —
ERRLISh O KR
1 [EHE2 45800 40 | L1 1R 21 26k 260 | —
2 LSO K 40 | L4 gl 17 3.t 31— —
A ) R —l s o901 | —|  —|  —
LRELIA D RS
1 EH#E30 95K RERGESRBLC 40 | L1|T 15 17 279 27 - -
ER NS
2 FELS o 40 | L1|F o8 10ff 2.9t 2.9 | —
-~ HEK RSB FL R AR 50 | L1|% 1gf 229 18P 15— —
EEELIA o il 50 | L1 12 15 2.5 2.5 0 | —
FH AR AT L X I 50 | 11| bk phiE M peE | —
A b AR X g
1 G —ft 8.7 11 - - - -
2 RSO KK 50 | L1 16 229 1 o1 | —
%[ B L R —l 6. gt 9.2 | —|  —| —
LRELIA D RS
1 EEHMOGERHRAEESRI D HMOME] 40 | L1|F 1fF 13F 10 10 —| -
2 _ERCEAF R 40 | L1|% 1f 134 6.9%8 6.9  — -
S = [EREa AR
1 TR e — | BE#R | PRME LhVE LY kYR - -
2 hERLIA oo Mg 50 1.1| fb#8 be#y bhiE v - -
T P L R I 50 | 1.1 o 29 o = o =




204 53 s ® K 8
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
B [RcE (s
1 BERRAM M — | BRER | IhMY HYE LR LY - -
2 EELS o 50 | 1.3 ¥ k¥ v K - —
LS 50 | L1|fo o o283 | | | —
=0l FE PR M X3 — 1 15 | | | —
ERLEAS DK
1 E#E30 95BN 40 | 1L1|p g 28 10 100 | —
2 RELEA o 40 | L1 14 21 10 10— —
o = DEERIAES: 50 | 1.6 ib¥E bkYE LVE REME S | —
TR b A X
1 B R e —[#t 1of 11 — — — —
2 [Hi2 4 5|0 40 | L.6(F 21 279 32F 32 | —
3 EE3 0 9ERHV 40 | L6[F 18F 22 2% 26 —| —
4 EFRLASR O MR 40 | L6|F 15F 1T@ 4,98 4.9 - -
| JCHT Eeei — | HeHR | k¥R bovE J:I:%F tb¥E - -
AR Mt T b 50 1.1| Lb#8 bbns pRYE bREE - -
T LA X
1 BRI —p#i 8. TRl 10|  — — — —
2 LRSS o XK
(1) FEMFEEFTEFERED 40 | L.1|d 17 23 e25h 28— —
(20 EELUS ORI 40 | L1[F 11 1400 3.6 3.6 @ — —
= MR £ P L DA —p 1eE o1y | | o —
ERLEAA D X I
1 BB RFrs BEETRE W 50 L1 21 299 30 30 - -
2 ELS o 50 | L1|f 18 25 ogfh 28—  —




